
Big Idea of the Day--AD

I. Aggregate Demand

     A. Aggregate demand is the relationship between the price level and the quantity of real GDP demanded (the sum of consumption expenditures, investment, government purchases, and net exports). The aggregate demand (AD) curve plots the amount of real GDP demanded against the price level.
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     B. As illustrated in Figure 25.3, the AD curve slopes downward. The AD curve has a negative slope because of the wealth effect and substitution effects.


1. The wealth effect refers to how changes in the amount of real wealth affect the quantity of real GDP demanded. Real wealth is how many goods and services the quantity of wealth (money, bonds, stocks, etc.) can buy. An increase in the price level reduces the quantity of real wealth, thereby decreasing the demand for goods and services, that is, decreasing the aggregate quantity demanded.


2. The first substitution effect is the intertemporal substitution effect, caused by a change in the opportunity cost of goods now versus the future. The higher the interest rate, the greater is the amount of intertemporal substitution of future goods for present goods. A higher price level decreases the quantity of real money and thereby decreases the supply of loans while simultaneously increasing the demand for loans. This outcome raises interest rates and thus, via the intertemporal substitution effect,  decreases the (current) aggregate demand for goods.


3. The second substitution effect is the international substitution effect, which results from a change in the opportunity cost of domestic goods relative to foreign goods. An increase in the domestic price level makes domestic goods and services more expensive relative to foreign products, thereby leading to a decrease in the quantity demanded of domestic GDP.

     D. The aggregate demand curve shifts in response to changes in three factors: expectations, fiscal and monetary policy, and the world economy.


1. Expectations about future income, future inflation, and future profits shift the AD curve.



a) Increases in expected future income increase people’s consumption today, thereby shifting the AD curve rightward.



b) A rise in the expected inflation rate makes buying goods cheaper today and shifts the current AD curve rightward.



c) An increase in expected future profits boosts firms’ investment demand, which shifts the AD curve rightward.


2. Fiscal policy is the government’s attempt to influence economic activity by changing its taxes, spending, deficit, and debt policies. 



a) A decrease in taxes or an increase in transfer payments increases households’ disposable income. An increase in disposable income raises people’s consumption demand, thereby shifting the AD curve rightward.



b) Because government purchases of goods and services is one component of aggregate demand, an increase in these purchases shifts the AD curve rightward.


3. Monetary policy is changes in the interest rate and quantity of money.



a) An increase in the quantity of money raises people’s spending and leads to an increase in aggregate demand; that is, the AD curve shifts rightward.



b) If the Fed lowers interest rates, the AD curve shifts rightward.


4. Two world economy influences affecting the aggregate demand for output are the foreign exchange rate and foreign income.



a) A drop in the foreign exchange rate makes domestically produced products cheaper relative to foreign products and increases the demand for domestic goods, thereby shifting the AD curve rightward.



b) An increase in foreigners’ income increases their demand for exports and shifts the AD curve rightward.

